
MEEG 2013  Quiz #7.m23.072
 

1. (4 points)  Define (a) work of a moment on a body, (b) ki-
netic energy of a rigid body in plane motion. 
 

2. (6 points)  A 16.1-lb wheel 
rolls without slipping with  = 
5 rad/s  in the position shown, 
where G is its mass center, R = 
15 in., r = 8 in., and central ra-
dius of gyration 

1ω

k = 9 in. De-
termine its angular velocity  
in the next position where G is 
directly below its center C. 
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1. (a) Work of a moment on a body is equal to the moment on 
the body times the angular displacement of the body in the di-
rection of the moment. (b) Kinetic energy of a rigid body in 
plane motion is equal to one half of the mass moment of iner-
tia of the body about the velocity center of the body times the 
square of the angular speed of the body. 
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1 16.1 9 16.1 7
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2 10.8954ω =           2 10.90 rad/s =ω  


